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. What were the causes for Battlé_ of

Plassey?

5. Siraj-ud-Doula became the Nawab of

-B_engal.-Thé'.British'. neglected him and -
strengthened their fort William without his
permission. They also misused the trade

“exemptions.

* Siraj-ud-Daula felt that the english were

. disobeying his orders and supporting his

enemies. by this, he captured english ware
houses. This became the reason for the
battle of plassey. | e

Ans.
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SOCIALSCIENCE

Describe the"results of Subsidiary
alliance. ' ‘

. The results of subsidiary alliances are -

Huge burden of military expenses made

Indian status economically weak..

British took control of vast land.

States which came under this policy last

their sovereignty.

'Name the Indian states that came

under the policy of Doctrine of Lapse.

' Oudh, Satara, Nagpur and Jhansi are the

Indian state that come under the policy of
Doctrine of Lapse. . -
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